Present Tense (stem-changing
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YO MEDIR

YO MORIR

TU PODER

TU MEDIR

YO CONTAR

YO CERRAR

TU QUERER
USTED PEDIR
USTED MORIR
USTED VOLAR

TU ENTENDER
USTED SENTIR
USTED SERVIR
USTEDES VOLAR
USTEDES VOLVER
USTEDES PERDER
USTEDES SERVIR
VOSOTROS SONAR

T OCXCOWmW —2T2Z2200n02mMmoumo<<acL
m>IxmmncmMr < ON-—-mMTOMmMmITSC X C

Mm@ >»OMmMMC XOMOT— T0TO< mM™IOMmWOWM

— C O —-—TZI<K>»Z2—M—-«IJr —m—r—mr

mZZZ 0w —04HH1ovmmMmZImMmmCaacowmw>» oL

verbs)
ESTNAN
NE I TNE
NSMNEV
J LI SNP
QVDRI C
UV EDVR R
UCERNE
TEVLEWU
ENTTEND
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YO PODER
YO JUGAR
YO DORMIR
TU PEDIR
YO SONAR
YO SERVIR
TU SONAR
YO RESOLVER
USTED MEDIR

TU DEVOLVER
USTED SONAR
USTED PENSAR
USTED MOSTRAR
USTEDES PEDIR
VOSOTROS MORIR
VOSOTROS PEDIR
USTED PREFERIR
VOSOTROS CONTAR
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YO VOLAR

YO PEDIR

YO SENTIR

TU JUGAR

YO PENSAR

TU SERVIR

TU VOLVER

YO RECORDAR
USTED JUGAR
USTED VOLVER
USTED QUERER
USTED CONTAR
USTED REFERIR
USTED REPETIR
USTEDES CONTAR
VOSOTROS MEDIR
USTEDES REFERIR
NOSOTROS SERVIR



VOSOTROS CERRAR



VOSOTROS REFERIR



USTEDES RESOLVER
VOSOTROS ENTENDER



Solution




